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Problem 1

Mark the best answer for the following questions

1- If we resolve F into the two components Fa and Fb, then Fa =

a) 100 cos 60

b) 100 sin 60

c) 0

d) Information is incomplete

2- The magnitude of the projected component of F along the the pole OA is  
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3- The tension in each cable is 

a) 325 lb
b) 300 lb

c) 1200 lb

d) Indeterminate because there are too many unknowns.
4- The angle γ is equal to

a) 120
b) 114
c) 66
d) 60
Problem 2
a) Express the force FA in Cartesian vector form.
b) Determine the angle between line of action of F1 and line of action of F2:










Problem3 (25% for FBD, 50% for eqs. of equilibrium, 25% for solution of eqs.)  

The man attempts to pull down the tree using the cable CAD and the frictionless pulley arrangement as shown. If the tension in cable AB is 60 lb, determine the tension in cable CAD and the angle θ. 

Problem 4( 20% FBD, 40% correct vectors, 40% correct equations) 
If the 500-lb block is in equilibrium when supported by the three cables as shown, set up the equations necessary to solve for the forces in all cables.
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